Math 4															Name ______________________________
4-3 Practice																					Date________

Below are four different categories of problems.  The first category is simply your basic identities, possibly rearranged.  You NEED to be familiar with these identities and be able to manipulate them.  After the identities	, there are three sections of problems.  The C problems are the easiest, and they get progressively more difficult as you make your way to the B and A sections.  Make sure you try all the problems, even the hard ones!									
		
Do your work on another sheet of paper.
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“C” problems
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“A” problems
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Helpful Hints

atb_a b
aro_a42
c ¢ ¢
a+b_a b
=4.2

c ¢ ¢

‘Write the numerator in terms of sine &
cosine, then factor out sin x

Square the binomial (correctly), then use two
diffesentidentities to simplify the numerator.

(@ +0°)=(a+b)(a®—ab+1?)

(@ -b*)=(a-b)(a® +ab+Db*)
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